When you're taking a math test and
forgot all the equations

A — T

This packet belongs to Grade

Lots of information....

| have dated each of the AM! lessons from here on out. Finish through day 25 (which is April
20) and then begin on the AMI work dated April 21. The last day of school is MAY 8.

Turn in your packets as soon as you get them finished. You can turn them in at Bradbury's, the
school drop off, text, or email. | need all the time | can get to grade them.

ALL AMI WORK WILL BE DUE ON MAY 11 AT THE VERY LATEST! NO EXCEPTIONS!I!

| have several no name AM| papers. | have them placed in a box in the lobby. If you find your
paper, write your name on it and return it back into the box.

Return your books to me as soon as possible. You can lay them in the hallway outside of my
classroom or give them to Monica. | have marked the area in the hallway by my door where
you (or Monica) are to lay them depending upon the subject.

AM MISSING CALCULATOR #26 AND #29.
I NEED THEM BACK IF YOU FORGOT TO RETURN THEM!!!

You can join my Remind group. It is a great way for us to talk back and forth.

Send atext o

Also, email me if you need to. . 81010
Mandy.Brown@norfork.k12.ar.us Toxt this message
@k43kg3

I guess that’s about it! Miss you!!
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April 21: Trijgnometgy

Name

Trigonometry: The Law of Sines

The LAW OF SINES is g

powerful triangle tool which is used to find
ANY triangle. By matchin

g up angles with their opposite sides, the e
stn 4 sin B _sinC

a b C

missing sides or angles of
quation is:

Example: Find the missing side x:

sinl19°  sipn40°
ATS-—' = T DEGREE MODE!
X

How about finding the other unknowns?

326643 (152> c

16 x
326x =10.288 A
xr=31.56cm

Solve each triangle: (p(“ 5‘1\0165 Qnd (L\‘ O{,ﬂ\(j\%B

1) 26

73° 25

21
3) 4)

24

40°

100

5) Find the perimeter of ADEF. 16

40° E



April 22: Trigonometry

Name

Make swre deqree. Meae.

LAW OF SINES PRACTICE ]

1. Solve for the unknown in each triangle. Round to the nearest tenth.

Al B. C.
17m x
44mm
9.4em
22m
Hcm
2lem K.
D. E.

13m 12m




April 23: Trigonometry

Name

The LAW OF SINES can also be used to find missing angles.

What about the other unknowns?

Example: Find the missing angle x: ¢
sinx’  sin75°

36 50

sinx” 966

vl o

50(sinx®) = 34.776

sinx? =.69532

X =44° (using inverse sine on vour caleulator)
g Y

Solve each triangle: (F\hﬂd a/\\ a’“q‘eb &/\[\A a{,n 9‘(:}66)

6) 40 7) 86

44

105

9)

125
38

125

150

e

10) Find the area of circle € by using the Law of Sines to find the radius. Hint: What kind of triangle is

ABC? A ‘X%{\O{J{\@,‘f l(\“ﬂt '
(H=CP



April 24: Trigonometry

Name

—anerse Trigonometric Ratios)—

A)  Find the value of each inverse trigonometric ratio in degrees.
D sint () 2)  tan’ (_‘E_) 3) cost(N)
4 cot' (&) 5 sec’ (2) 6 cscl ()
B)  Findthe exact value of each inverse trigonometric ratio in radians.
7) csc! <%«3_> 8) tan’ (1) 9)  cos” (g)
10) sec’ (1) 11 sin! (l) 12)  cot' (0)
2




April 27: Trigonometry

Name

Convertthe following degree measuresinto radians

1} 45° 2) 76° 3) 510°
6) 150° 7)40° 8) 270"
11) 50° 12) -30° 13} 6°

4) -240°

9) 120°

14) 300°

5)0°

10} 10°

15) -24°



April 28: Trigonometry

Name

Convertthe following radian measures into degrees

Viis 14 b 4 3n 13n
16) = 17)% 18) = 19) = 20) ="
)7 2) & 23) — = 24) 21 25)5
26) = 27) =% 28) 0 29) = 30) 3m



April 29: Trigonometry

Name

LQN U&? SINes.
Ve Swee &cﬁ\ﬁ@c ek

2. Solve for all missing sides and angles in each triangle. Round to the nearest tenth.

! R
B .(/'\ B' C.
51° 71°
50m
Q 17.5m
G &cm
K
15m
L
C
S

p.
8cm
i Omm
13cm
Y




April 30: Trigonometry

Name

Across

2_what does cot squared + one equal?

4. what does sin squared + cos squared equal?
5. what does 1 over csc equal?

6. what does tan squared + one equal?

Down

1. what does 1 over sec equal?

2_what does sec over csc equal?

3. what does sin over cos equal?



May 1: Trigonometry

Name

| o
h\i ‘F‘\M e W\\%\m% 3ide %rsjr.

% N ¢ 5 ¢
ep5 Sel
Doy Cov
A\
Find the value of thegtﬂgonomeuicfunctions
1) 2) 3}
- ’ @1
8
\
Kl g v
16
5) 6)
4)




May 4: Trigonometry

Name

Use the definition of the trig ratios to find the trig function indicated

7) Given: cos8 = g, findtan @ 8) Given: cscf = %,E ,findsecd

9) Given:sin 8 = § ;and cos@ = \;?3’ find cot @ 10) Given: cos@ = 1/2—5, find tann 8



May 5: Trigonometry

Name

Use the Unit Clircle to find the values of the trig functions

11) cos 45° 12)sin30° 13) sin%" 14) 'talnz{—;[iE
15) sec(—90°) 16) cot(—45°) 17) csc 150° 18) sin 270°
19) cos i 20) tan ===

4 6

Use the special triangles {30-60-90 and 45-45-90) to find the values of the trig functions

21) cos 30° - 22)sin60° 23)csc 45° 24) cot 45°

25) sin 30° 26) sec 45° 27)tan 60° 28) cos 45°



May 6: Trigonometry

Name

Sum and difference formulas for sines and cosines
sin(a + ) = sina cos f + cos « sin f3
sin(@ — f) = sina cos B — cosa sin B
cos(a + ff) = cosa cos f ~sina sinf8

cos{a ~ ) = cosa cos f + sina sin f8

Use sum and difference formulas to find exact values

13) tanZ 14) cos 15° 15) sin 75° 16) cos(105°) 17)sin 2



May 7: Trigonometry

Name

verify the identity
tan® __ .
8) ge:f; = sin®

7)tand .sin0 - cos@ =sin* B

10) ©otf . cos @ 11) sec @ sinf = tan 6

€s5C




May 8: Trigonometry

Name

Sum to Product Formulas
A+ B A —
sinA—i—sinB:Zsin( 5 )cos( B)

2
A+ B —

sind —sink = Zcos( )sin (A B)
2 2
A+ B A—

cosA +cosB = ZCOS( )cos( B)
2 2

A+ B A—B

cosA—cosB = '—ZSIH( > )sin( 5 )

Use the sum-to-product formula to change sin 70° - sin 30° into a product

gin 70° — sin 30° =

Use the given information to find the exact value

5} sing = 3, cosf = E?, where @ is in quadrant 1. Find tan @
2

eitan 0 = - 4;, where g isin quadrant 4. find sec @



Definition of the Six'Tr'igdnoinetr'ic Functions
R:ght tmmgle dq‘imhons, where 0 < 9 < 1:/2

g“

cot =29

Reciprocal ldentities

. 1 1 1
siny= —, secx=—— tanx = ——
csC X cosx cot x
1 1 1
csCX = —-—— COSX=—— Cotx=_—
sin sec x tanx
Quotient Identities
sinx cos X
tanx = —— cotx = ————
cos X sin x

Pythagorean identities
sinZx + cos?x = 1
1+tan2x =sec?x 1+ cofx =csc?x

Cofunction ldentities
=)= one ol -
S| 2 X cO8S X COS 2 X X

ot )= wfl-2) e
2 * 2 *

sec(%-' ) = C5C X c':ot(-g-x) = tan x
Even/Odd identities

sin{—x) = —sinx cos(—x} = cos x
csc(—x) = —cscx tan(~x) = —tanx

sec{—x) = secx  cot(—x) = —cotx

Sum and Difference Formulas
‘sin{u + v) = sinucosv = cosusiny

cos(y * v) =cosucosv Fsinusiny
' tanu & tanv
tanly + v) = -—/——————
( ) 1 Ftanutanv

. ab%’.éh

sin % sin v =%[cos(u o) R

Double-Angie Formulas

sin2u = 2sinucosu

cos 2u = oos"‘m—sm’u--2cos’u—1=l-~2=un2
2tanu

1 —tan?u

Power-Reducing Formulas '

sm2u=_l—cos2u
2
5. _ 1+ cos2u
cos?u =
2
' 1 — cos 2u
2, = i
B E = 1Y cos 24

Sum-to-Product Formulas

. . Lfut+tvy . fu—v
siny + sinv.= 231:1( )oos(—-—-—)

2 2
sin —smv-—2cos(u+v)sin(u—v)
“ 2 2

utv (U —v
cosu+cosv—2cos.( 2 )cos( 3 )

cCOsS U — COSV = —2sin(u +v)sin(u -v)
2 2

Product-to-Sum Formulas

cos(u + v)]
€OS U COs V = %[cos(u —v) + cos(u + v)}
sinucos v = -;-[sin(u‘ + v) + sinfu — ]

cosusinv=%[sin(u + v) — sin(u — v)]




Section 4.7 Formulas

Law of sines
Solve triangles that do not contain a 90° angle

sinA _ sinB _ sinC

a h €

Law of cosines

Solve triangles that do not contain a 30° angle
a’=b*+c>-2'bcrcosA

b*=a’+c’—2-accos B
c?=a’+b’—2-abcosC

Heron’s formula
Area of any triangle = Ys{s-a)(s-b){s-c)
Where s = ¥(at+b+c)

Area of any triangle
=¥bcsin A

=% ab'sinC

=%acsin B

= a%'sinB*sinC
2'sinA

= c*'sinA-sinB
2:sinC

= b?*sinA'sinC
2'sinB
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